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Question Number : 1 Question Id : 5531725515 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
There is a parliamentary system of Government in India
because the
(1) Lok Sabha is elected directly by the people.
(2) Parliament can amend the Constitution.
(3) Rajya Sabha cannot be dissolved.
(4)  Council of the ministers are responsible to the Lok Sabha.

Options:



531722200101
SS317222002. 2
SS317222003. 3
SSS17222004. 4

Question Number : 2 Question Id : 5531725516 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Gilt - edged market refers to
(1)  Bullion market
(2) Market of Govt. Securities
(3) Market of guns
(4) Market of pure metals
Options:
55317222005, 1
5317222006 2
55217222007, 3

SS317222008. 4

Question Number : 3 Question Id : 5531725517 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which one of the following is known as the ‘Coffee Port’ of

the world?
(1) Sao Paulo
(2) Santos

(3) Riode Janeiro
(4) Buenos Aires
Options:
55317222009, 1
55317222010 2
55217222011, 3
So217222012. 4

Question Number : 4 Question Id : 5531725518 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
For increasing milk production, which state launched Rs.215
crore project ‘Milk Mission’ in July, 20187
(1) Meghalaya

(2) Assam

(3)  Tripura

(4) MNagaland
Options:

SS317222012.1
SS217222014. 2
SS317222015 3
SS317222016. 4

Question Number : 5 Question Id : 5531725519 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
Which of the following is the main characteristic of mixed
farming?
(1) Cultivation of both cash crops and food crops.
(2)  Cultivation of two or more crops in the same field.
(3)  Cultivation of crops and rearing of animals together.
(4) Cultivation of fruits and vegetables.

Options:

EE317222017.1

CE317222018. 2

EE317222019. 3

SE317222020. 4

Question Number : 6 Question Id : 5531725520 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
When you travel in certain parts of India, you will notice red
soils. What is the main reason for this colour?
(1)  Abundance of magnesium
(2)  Accumulated humus
(3) Presence of ferric oxides
(4)  Abundance of phosphates

Options:

5317222021, 1

Coolrz222022 2

Lol 7222023 2

SEol17222024. 4

Question Number : 7 Question Id : 5531725521 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which of the following sets of elements were primarily
responsible for the origin of life on the earth?
(1)  Carbon, Hydrogen, Nitrogen
(2) Hydrogen, Oxygen, Sodium
(3) Oxygen, Calcium, Phosphorous
(4) Carbon, Hydrogen, Potassium

Options:

So5317222025. 1

SL317222026. 2

SL317222027. 2

5317222028 . 4

Question Number : 8 Question Id : 5531725522 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which of the following statement is NOT true?
(1) Khaira is a disease found in paddy.
(2) False smutis a disease found in barley.
(3) Rustdisease is found in wheat.
(4) Early blight is a disease found in potato.



Options:

553172220291
SE5217222020. 2
5217222021, 2
So317222022. 4

Question Number : 9 Question Id : 5531725523 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Golden rice variety has been developed to combat the
deficiency of

(1) Iron

(2) Vitamin C

(3) Calcium

(4) Vitamin A
Options:

SS317222023. 1
SS317222024. 2
SS317222035. 3
SSS17222026. 4

Question Number : 10 Question Id : 5531725524 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A person of mixed European and Indian blood in Latin
America is called a

(1)  Mulato

(2) Mestizo

(3) Meiji

(4) Mau Mau
Options:

SS317222027. 1
SSS172Z2Z2028. 2
SS317222038. 3
SS317222040. 4

Question Number : 11 Question Id : 5531725525 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

In the context of International Trade ‘Early Harvest Package’

refers to

(1) A precursor to a free trade agreement between two trading
partners.

(2) A clause related to the agreement on agriculture under the
WTO.

(3) A subsidy mechanism given to the developing countries for
trade in agriculture.

(4) A transportation agreement signed between countries for the
movement of goods.

Options:
SoolrzzzZ041. 1



SS3l172z22042 2
SS317222043. 3
SS317222044, 4

Question Number : 12 Question Id : 5531725526 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The nitrogen present in atmosphere is
(1)  of nouse to plants
(2)  injurious to plants
(3) directly utilized by the plants
(4)  utilized through micro organism

Options:

55317222045, 1
55317222046, 2
55317222047, 2
5217222048 4

Question Number : 13 Question Id : 5531725527 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Agricultural Scientist M.S. Swaminathan received an
honorary medallion from India for his contribution towards
the development of agricultural practices from which
country?
(1) Canada
(2)  Australia
(3) New Zealand
(4) Mexico

Options:

oo53172220439. 1

55317222050 2

55317222051, =

55317222052 4

Question Number : 14 Question Id : 5531725528 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
ICAR, New Delhi has identified three BT cotton varieties for
cultivation in Punjab, Haryana and Rajasthan; which were
developed by Punjab Agricultural University (PAU), Ludhiana
recently. Which one of the following is NOT among those

three?

(1) PAUBT-1

(2) BT -1861

(3) F-1861

(4) RS-2013
Options:

553172220521
SS317222054. 2
SS317222055. 3



SS317222056. 4

Question Number : 15 Question Id : 5531725529 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Most abundant Carbohydrate in the world is

(1) Pectin

(2) Rubisco

(3) Hemicellulose

(4) Cellulose
Options:

S5317222057. 1
SS317222058. 2
SS317222058. 3
SS317222060. 4

Question Number : 16 Question Id : 5531725530 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which one of the following is known as queen of spices?

(1) Clove
(2) Pepper
(3) Nutmeg

(4) Cardamom
Options:
SE317222061. 1
SE317222062. 2
55317222063, 3
5317222064, 4

Question Number : 17 Question Id : 5531725531 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
In which city has NABARD launched South East Asia’s first

centre for ‘Climate Change’'?

(1)  Jaipur

(2) Patna

(3) Lucknow

(4) Chennai
Options:

SS317222065. 1
SS317222066. 2
SSS172Z22067. 3
SSES17222068. 4

Question Number : 18 Question Id : 5531725532 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



World Bank assisted project SMART was launched in
(1) Rajasthan
(2) Gujarat
(3) Maharashtra
(4) Punjab
Options:
55317222069, 1
553172220702
55317222071, 3
5317222072 4

Question Number : 19 Question Id : 5531725533 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
National Research Centre for grapes is located at
(1) Nashik
(2) Pune
(3)  Muzaffarpur
(4) Lucknow

Options:

EE217222073. 1

5317222074, 2

55317222075, 3

EE317222076. 4

Question Number : 20 Question Id : 5531725534 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The National Milk Day which marks the birth anniversary of
father of White Revolution Dr. Verghese Kurien is celebrated
on
(1) Maovember 23
(2) Movember 24
(3) November 25
(4) November 26
Options:
S5317222077. 1
SL317222078. 2
55317222079, 2
521722202804

Fart E : COMMUNITY HOME SCIEMNCES

Section Id : 55317250
Section Number : 2

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 180
Number of Questionsto be attempted: 180
Section Marks: 720

Display Number Panel: Yes



Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 55317272
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 5531725535 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Veins in marble are example of

1. Fastitious design
2. Stylized design
3. Abstract design
4. Fortuitous design

Options:

55317222081, 1
55317222082 2
553172220832 2
EE2172220284. 4

Question Number : 22 Question Id : 5531725536 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Thin legs and huge top of a table represent poor

1. Harmony
2. Proportions
3. Balance

4. Rhythm

Options:

5317222085, 1
55317222086 2
55317222087, 2
55317222088 4

Question Number : 23 Question Id : 5531725537 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The combination of qualities that is pleasing to trained eyes and ears is

1. Expressiveness
2. Naturalness
3. Beauty

4. Modernization

Options:
55317222089, 1
55317222090 2



SS3172220381. 3
SS317222082. 4

Question Number : 24 Question Id : 5531725538 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which orientation of windows admits more natural light indoors?

. East and West

(]

. East and North
. North and South

3

4. East and South
Options:
Coolr222093. 1
Lol 7222094 2
S5o172220895 2
GEo17222096. 4

Question Number : 25 Question Id : 5531725539 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
An interlocking of horizontal, vertical or inclined planes in a structure
is an example of

1. Planner form
2. Plastic form
3. Skeletal form

4. Rectilinear form
Options:
CE217222097. 1
CE217222098. 2
CEZ17222099 2
CEE17222100. 4

Question Number : 26 Question Id : 5531725540 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which one of the following combinations of textures should be
avoided?
1. Steel framed sofa with satin upholstery

2. Brick wall with coarse textured rug or curtains
3. Handloom covered seat with cane furniture
4. Steel framed chair with jute seat

Options:

5217222101, 1
EE217222102. 2
o5217222102. 3
55317222104 4



Question Number : 27 Question Id : 5531725541 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Market type on the basis of large quantity of sale is referred to as

1. Fair

2. Local

3. Wholesale

4. Perfect
Options:
CEE17222105. 1
CE=Z17F222108. 2
CE=Z17222107. =
CEE17222108. 4

Question Number : 28 Question Id : 5531725542 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Marketing information system

. is a feedback-oriented process
2. is a continuous process
. Is a manual process

3

4. one-time process
Options:
SE317222109.1
S53l7z2221100 2
55317222111 2
S5317222112 4

Question Number : 29 Question Id : 5531725543 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Material goods with sentimental value are classified as

1. Non-economic resources
2. Economic resources
3. Natural resources

4. Technological resources

Options:

5521722211321
5217222114 2
So5317222115. 5
55317222116, 4

Question Number : 30 Question Id : 5531725544 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Circadian rhythm is also referred to as

. Biological time patterns

[ ]

. Time orientation
. Succession of time

3

4. Duration of time
Options:
LEol17222117.1
GEZ17222118. 2
EE2317222119 =2
Coolr2221z20 4

Question Number : 31 Question Id : 5531725545 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Individual’s state of disorganization in a given environment is referred

to as
. Boredom
2. Frustration
3. Stress
4. Fatigue
Options:

SS317222121.1
SSS17222122. 2
SS317222122. 3
SS317222124. 4

Question Number : 32 Question Id : 5531725546 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Who propagated the concept, “Management is getting things done
through others "?

1. Henry Fayol
2. Mary Parker Follet
3. Peter Dracker

4. Koontz O Donnell
Options:
LEol17222125. 1
Lol 7222126. 2
CEo17222127. 2
CEE17222128. 4

Question Number : 33 Question Id : 5531725547 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Vegetables and flowers obtained from one’s own garden are example

of
1. Direct real income

2. Indirect real income
3. Psychic income

4. Potential income
Options:
CE217222129.1
CE21722213230. 2
EEZ17222121. 2
CEE172221=22. 4

Question Number : 34 Question Id : 5531725548 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The portion of “output’ that returns back to the system as “input’ is
referred to as

1. Feedback
2. Analysis
3. Evaluation

4. Feed forward
Options:
LEol17222153 1
SEol17222124. 2
GEZ17222135 2
CEE172221=6. 4

Question Number : 35 Question Id : 5531725549 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Process of checking to determine whether proper progress is being
made as planned or not is referred to as

l. Directing
2. Controlling
3. Communication

4. Organizing
Options:
SEo17222127. 1
SEZ172221=28. 2
CEE172221=9. 2
SEol17222140 4

Question Number : 36 Question Id : 5531725550 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The adaptation that takes place in humans over the course of life time is

1. Acclimatization

[ ]

. Behavioural adaptation

il

. Plasticity
4. Genetic charge

Options:

553217222141, 1
oo217222142. 2
55317222142
55317222144 4

Question Number : 37 Question Id : 5531725551 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A seat breadth must not be narrower than the person in the
population. Choose the appropriate option from the choices below.

1. Thinnest
2 Tallest

3. Fattest

4. Y oungest

Options:

55317222145, 1
55317222146 2
55317222147, 2
5217222148 4

Question Number : 38 Question Id : 5531725552 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The quantum of input processed during a specified period of time, by a
worker can be regarded as his or her

1. Productivity
2. Efficiency
3. Capacity

4. Endurance
Options:
CEZ17222149. 1
CE=17222150. 2
Soolr222151 2
5ol 7222152 4

Question Number : 39 Question Id : 5531725553 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Flat plate solar collectors are used for
|. Low temperature applications

2. Medium temperature applications
3. High temperature applications
4. Very high temperature applications
Options:
5531722215301
55317222154, 2

55317222155 3
S5317222156. 4

Question Number : 40 Question Id : 5531725554 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The depression in bricks is called

l. Slump
2. Dog
3. Frog

4. Hole
Options:
553172221571
55317222158 2
55217222159 2
EE5217222160. 4

Question Number : 41 Question Id : 5531725555 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Adequate illumination level in the kitchen (as per BIS specification)
should be

1. 50to 100 lux
2. 100 to 150 lux
3. 150 to 200 lux

4. 200 to 250 lux
Options:
S5olrz22zZ1el 1
Co317222162. 2
S5317222163.
55317222164 4

Question Number : 42 Question Id : 5531725556 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Which one of the following renewable energy resources refers to direct
application of solar energy?

1. Biomass

2. Wind energy

3. Photovoltaic cells

4. Hydropower
Options:
LEol17222165. 1
CEol17222166. 2

SSE17222167. 3
SS317:222168. 4

Question Number : 43 Question Id : 5531725557 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Le Corbusier (a famous architect) designed which of the following type
of windows for effective ventilation?

1. Ribbon Windows

2. Casement Windows

3. Bay Windows

4. Clerestory Windows
Options:
EE2172221649. 1
CE=Z17F222170. 2

SS317:222171. 3
SS317222172. 4

Question Number : 44 Question Id : 5531725558 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A low cost material such as Hollow Gypsum Board or Block is suitable
for

. Roofing
2. Foundation
3. Interior walls

4. Flooring
Options:
LEol17222173. 1
SEol17222174. 2
5ol 7222175. 2
CEo17222176. 4

Question Number : 45 Question Id : 5531725559 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The bend or transverse rupture strength is known as

1. Compressive strength
2. Flexural strength
3. Holding strength
4. Tensile strength

Options:

S5317222177.1

SEE1VZ2RZ1ITE. 2

S53l7z222179. 2

S5317222180. 4

Question Number : 46 Question Id : 5531725560 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The percent share of cement in total cost of building materials is

1.10-15%
LA5-20%
320-25%
4.25-30%
Options:
5217222181, 1
SSolr2221B2 2

SS317222183. 3
SS317222184. 4

]

Question Number : 47 Question Id : 5531725561 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Fine sand 1s used in

1. Pointing
2. First coat of plaster
3. Masonry

4. Concrete work
Options:
CEE17222185. 1
CLE17222186. 2
Lol 7222187. 3
SEol172221580. 4

Question Number : 48 Question Id : 5531725562 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



What percent of solar energy is reflected back into space?
1. 10 %
20 %

.30 %

b

3

4. 40 %o
Options:
553172221891
SEZ17222190. 2
EEZ2172221491. =
S5S17222192. 4

Question Number : 49 Question Id : 5531725563 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Short term finance is obtained for a period up to

l. one year
2. two years
3. three years
4. five years
Options:
553172221921
553172221584, 2

SS317222185. 3
SS317222196. 4

Question Number : 50 Question Id : 5531725564 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Assuming the responsibility for loss is

1. Enterprising
2. Risk-taking
3. Innovating
4. Organizing

Options:

55317222197, 1
55317222198 2
55317222199,
52172222004

Question Number : 51 Question Id : 5531725565 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The means of employment of funds with the aim of getting return on it
is referred to as

1. Funding

o ]

Saving

Credit

e

Investment
Options:

EE317222201. 1
EE317222202 2
CEZ317222203. 2
CL317222204. 4

Question Number : 52 Question Id : 5531725566 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The study of how people satisfy their grants and needs of economic
goods is

1. Consumer Behaviour

]

. Marketing management
3. Consumer economic

4. Economics
Options:
LEol17222205. 1
CEo17222206. 2
CLE17222207. 2
Coolr222208. 4

Question Number : 53 Question Id : 5531725567 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Buying jewellery is

. Protective luxury

]

. Necessity for existence
3. Conventional necessity
4. Comfort

Options:

SS317222208. 1

SS317222210. 2

SS317222211. 3
SSS1722221%2. 4

Question Number : 54 Question Id : 5531725568 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Fashion is sometimes not acceptable due to

1. Social prestige
2. Economic status
3. Global scenario
4. Customs and beliefs

Options:

SS317222213.1

SS317222214. 2

SS317222215. 3
SSS17222Z216. 4

Question Number : 55 Question Id : 5531725569 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The asset that a borrower owns and uses as guarantee is called

1. Collateral
2. Ransom
3. Fund

4. Subsidy
Options:
S5E17z222217.1
SS31V2R2218. 2
S531V222219 3
SL31F222220. 4

Question Number : 56 Question Id : 5531725570 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Expenditure for celebrating any festival is

1. Planned expenditure
2. Uncontrolled expenditure
3. Semifixed expenditure

4. Extra expenditure

Options:

55217222221, 1
EL217222222. 2
So5317222222. 3
SL317222224. 4

Question Number : 57 Question Id : 5531725571 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Match the personality traits given in List-] with the interpretations of
the dress given in List-IL.

List—I List—II

(a) Optimistic, co-operative (i) Tight

uncomfortable

(b) Anxiety, tension (i1) Many clothes but
still buys more

(c) Worthless personality (iii) Loose comfortable
clothing

(d) Rigidity (iv)  Dark colours

{v) Refuse to buy new clothes

Select the most appropriate code

- (@) = (1), (b) - (1), (c) —(iv), (d)—(V)
Aa) = (i), (b)—(i). (c)—(ii). (d)—(v)
@)= (iv), (b) - (i), (c)—(v), (d)- (i)
4. (a) — (1), (b) —(ii), (c) — (iii), (d) — (v)

fa—

Fd

Lad

Options:

553172222251
EL217222226. 2
o317 222227. 3
5317222228 4

Question Number : 58 Question Id : 5531725572 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which state does Chambarumal belongs to?

1. Bihar

(]

. Himachal Pradesh
3. Kashmir
4. Punjab
Options:
CE217222229. 1
CE217222230. 2

SS317222221. 3
SSS17222232. 4

Question Number : 59 Question Id : 5531725573 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Which of the following is Phulkari done on white khaddar?
. Ratan chowkbhat

. Chhabribhat

3. Chobei

4. Thirma

]

Options:
Soolrz2z2zz253 1

SS3l17222234. 2
SS317222235. 3
SS317222236. 4

Question Number : 60 Question Id : 5531725574 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which of the following is NOT an embroidery?

1. Kalamkari
2_ Kantha
3. Kasuti

4. Kashida
Options:
EL317222237. 1
EL317222238. 2
EE317222239 2
o317 222240. 4

Question Number : 61 Question Id : 5531725575 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Identify the state that DOES NOT produce Ikat textile.

1. Orissa
2. Tamil Nadu
3. Bengal

4. Gujarat
Options:
SS317222241.1
SEE1V2REE42. 2
SS317222243. 3
SS317222244. 4

Question Number : 62 Question Id : 5531725576 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



A short flared tier attached to the waistline of the garment is called
1. Godet
2. Peplum
3. Gore

4. Gusset
Options:
EE317222245 1
EE317222246 2
CEZ317222247. 2
CL317222248. 4

Question Number : 63 Question Id : 5531725577 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which of the following is a stationery cutter?

1. Laser
2. Vertical
3. Rotary

4. Band
Options:
52172222491
EL217222250. 2
So317222251.
S5317222252. 4

Question Number : 64 Question Id : 5531725578 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
In which of the following collar’s neck edge of the collar follows the
neck curve of the garment?

1. Peter Pan

2. Shawl

3. Bush-Shirt

4. Chinese
Options:
CE=Z17F22225=21
CE=Z17222254 2

SS317222255. 3
SS317222256. 4

Question Number : 65 Question Id : 5531725579 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



In a pattern, darts CANNOT be replaced by
1. Gather

2. Control seam
3. Dart tucks

4. Tucks
Options:
EE317222257. 1
EL317222258. 2
EL317222259 3
EEZ17222260 4

Question Number : 66 Question Id : 5531725580 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Sodium Hydrosulphite is an example of

1. Oxidizing bleach

]

- Reducing bleach

L

. Exhausting agent

4. Leveling agent
Options:
Soolrz2z2z2el. 1
Lol 7222262. 2
Lol 7222263. 3
SLol172227264. 4

Question Number : 67 Question Id : 5531725581 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which of the following treatment removes vegetable impurities from
wool fibers?

. Ginning

o ]

. Carbonization

Lad

. Crystallization

4. Scouring
Options:
Soolr2222E65. 1
Lol 7222R66. 2
Lol 7222267. 3
Lol 7222760. 4

Question Number : 68 Question Id : 5531725582 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Which of the following fiber is weak when wet?

1. Rayon
2. Cotton
3. Linen

4. Acrylic
Options:
E5317222269. 1
E5317222270. 2
E5317222271. 3
E5317222272. 4

Question Number : 69 Question Id : 5531725583 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Match the following natural fibers given in List—I with their country
of origin given in List—IL.

List—I List—II
(a) Linen (i) Africa
(b) Wool (1i) China
(c) Cotton (iii)  Mesopotamia
(d) Silk (ivi  Egypt
(v) India

Sclect the most appropriate code.
L. (a) = (iv), (b)—(iii), (c)—(ii), (d)—(v)
2. (a) = (iv). (b) (i) (c)—(v). (d)-(ii)
3.(a) = (iv). (b)—(iii), (c)—(v), (d)— (ii)
4. (a)— (i), (b)—(ii), (c)—(v), (d)—(ii1)
Options:
S5317222273. 1
55317222274 2

SSS17222E75. 3
SSS17222276. 4

Question Number : 70 Question Id : 5531725584 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which of the following finishes enhance care properties?

1. Antistatic

]

. Durable press
3. Abrasion resistance
4. Water proofing

Options:
Soolr22z2Yr. 1



SSSl1722227E. 2
SS317222278. 3
SS317222280. 4

Question Number : 71 Question Id : 5531725585 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which of the following finishes is the preparatory finish?

. Sanforisation

2. Singeing
3. Parchmentisation

4. Mercerisation
Options:
ool 7222281.1
Lol 7222282. 2
GLo17222283. 2
SEZ17222254. 4

Question Number : 72 Question Id : 5531725586 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Sericin is present in

1. Wool

2. Cotton
3, Silk

4. Rayon
Options:
SS317222285. 1
SSS17222286. 2
SSE1VZREEET. S
SS317222288. 4

Question Number : 73 Question Id : 5531725587 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which of the following fibers is of protein origin?

1. Hemp
. Mohair

]

3. Cotton

4. Kapok
Options:
LES172222E849. 1
CES1T7Z2Z22500. 2
CE217222291. 2
CLEZ1FZ222282. 4



Question Number : 74 Question Id : 5531725588 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which of the following is an insoluble bluing agent?

. Ultramarine

[ ]

. Methylene blue
. Borax

3

4. Ranipal
Options:
Coolrz2z22z293. 1
Lol 7222294. 2
G5o17222295. 2
GLo17222296. 4

Question Number : 75 Question Id : 5531725589 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which of the following properties of the fibre is related to its
durability?

1.  Tenacity

d

Luster

Absorbency

-

Density
Options:
SSE1vzk22a7.1
SS31Y2R2E98. 2
S5317222299 2
SS3172E22300. 4

Question Number : 76 Question Id : 5531725590 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which of the following dyes are anionic in nature with poor wash
fastness?

l. Vat

d

Direct

Reactive

-

Disperse
Options:
5531722220101
SSE1VZ2REE02. 2
SS31Y2R2303. 3
S5317222304 4

Question Number : 77 Question Id : 5531725591 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
Which of the following dyeing techniques is used to obtain a single,
uniform colour on a blended fabric?

1. Union

(]

Cross

i Lad
e

U

0

La]

Options:

S5317222205. 1
55317222306 2
55317222307, 2
55317222308 4

Question Number : 78 Question Id : 5531725592 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which of the following problems lead to change of colour due to
localized abrasive wear?

1.  Tendering

d

Frosting
Barre

Metamerism

-

Options:

55317222209, 1
553172223210 2
553172223211, 2
5217222212, 4

Question Number : 79 Question Id : 5531725593 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which of the following are helpful in matching repeats in block
printing?

1. Spot Marks
Pitch Marks

D

Matching Points
Pin Marks

e b

Options:

553172222131
55217222214 2
o5217222215. 5
55317222216, 4

Question Number : 80 Question Id : 5531725594 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The most suitable thickening agent to be used for reactive dye printing

IS
I. Guar gum
2. Sodium alginate
3. Gum arabic
4. Synthetic emulsion
Options:

SS317222517.1
SS317222518. 2
SS317222219. 3
SS3172225320. 4

Question Number : 81 Question Id : 5531725595 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The most important colour fastness property in upholstery would be

1. Rub fastness

[ ]

. Wash fastness
. Perspiration fastness

3

4. Light fastness
Options:
S5E17z222521.1
SS3lV2R2E22. 2
SL31F222323. 3
S5317222324 4

Question Number : 82 Question Id : 5531725596 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Match the equipment given in List-1 with the end products for which
they are used given in List-11.

List—I List—II
(a) Pad steam range (i Yibé aid
Yarn
(b) Crimp tester (i) Dyeing
(c) Drape meter {iii} Yam
(d) Hainness meter (ivi  Fabric

Select the most appropriate code
L (a)— (i1}, (b)—{(i). (c)—(iv), (d)— (iii)

2 (a) = (1), (b)=(i1), (e)- (i), (d)—(1v)

3. (a) = (i), (b)—(i), (c)— (i), (d)-(iv)

4.(a) — (i), (b) — (iv), ey - () (dy — (i)
Options:

SS3172225325. 1
SS3172225326. 2
SS317222327. 3



SS317222528. 4

Question Number : 83 Question Id : 5531725597 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which of the following fiber can be confirmed by a microscopic test?

1. Silk
2. Wool
3. Nylon

4. Polyster
Options:
SS317222329.1
SSE1V2REEE0. 2
SS317:2225321. 3
SS3172225332. 4

Question Number : 84 Question Id : 5531725598 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which of the following is an example of using diagonal line in a dress

design?
1. Fish dart

. Halter tops

]

3. Set-in sleeves

4. Knife pleats
Options:
CLoolrz2z22:03 1
Lol 7222534. 2
55o17222335 2
GEo17222336. 4

Question Number : 85 Question Id : 5531725599 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Rhythm in a dress design CANNOT be achieved by

1. Gradation
2. Repetition
3. Contrast

4. Continuous line

Options:
EE317222337. 1

SS317222538. 2
SS3172225339. 3
SS317222240. 4

Question Number : 86 Question Id : 5531725600 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
Which of the following fabrics DOES NOT have basket weave?

1. Monk’s cloth

[ ]

. Hopsacking
3. Calico
4. Oxford
Options:
S5317222241. 1
55317222342 2

SS317222343. 3
SS317222344. 4

Question Number : 87 Question Id : 5531725601 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which of the following methods of texturizing produces curled yams?

(=

. Knife-edge

(1 ]

. Stuffer box

3. Gear crimping

4. Knit-de-knot
Options:
LEol17222345. 1
GLol17222346. 2
SEZ217222247. 2
Soolr22204e. 4

Question Number : 88 Question Id : 5531725602 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Examples of weft knit stiches are

1. rib, jersey. purl
2. jacquard, rib, purl
3. rib, jersey, tricot
4. jersey, pile, tuck

Options:

553172223491
55317222350 2
55217222351, 2
217222352 4

Question Number : 89 Question Id : 5531725603 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Which of the following i1s NOT a surface figure weave?

1. Spot

bed

. Swivel
. Lappet

3

4. Leno
Options:
553172223531
55317222354 2
55217222355 =2
CEZ2172223E6. 4

Question Number : 90 Question Id : 5531725604 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Garment industry in India forces stiff competition from country like

1. Vietnam

. Dubai

{1 ]

, United States

3

4. Australia
Options:
LEo17222357. 1
GEZ17222358. 2
CEEZ317222359 2
Coolrz222z60. 4

Question Number : 91 Question Id : 5531725605 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
India is the largest producer of which fiber in the world?

1. Cotton

(]

Jute
3. Wool
4. Silk
Options:
5217222361, 1
CL317222362. 2

SS317222563. 3
SSS17222364. 4

Question Number : 92 Question Id : 5531725606 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



New Textile Policy, 2019 has excluded which of the following sectors
from the subsidy?
1. Ginning and Spinning

Ginning and Weaving

b3

Spinning and Weaving

Spinning and Finishing

ol

Options:

55317222365, 1
SL317222366. 2
SS217222367. 2
o521 7222368. 4

Question Number : 93 Question Id : 5531725607 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The trait theory of personality was proposed by

l. Thorndike

1 ]

. Murray
. Allport

3

4. Lemin
Options:
E5317222369. 1
Soolr222370. 2
E5217222371. 3
E5317222372. 4

Question Number : 94 Question Id : 5531725608 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which of the following is NOT a psychogenic need according to
Murray?

1. Ambition need

[ ]

. Information need
. Survival need

3

4. Materialistic need
Options:
LEol17222373. 1
Lol 7222374. 2
S5o17222375. 3
CED17222276. 4

Question Number : 95 Question Id : 5531725609 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Gestalt theory emphasizes
1. Stimulus response connections

[ ]

. Observational learning
3. Leaming by repeated practice
4. Higher order cognitive processes
Options:
SS3172225377.1
SSS17222378. 2

SSE172225379. 3
SS317222380. 4

Question Number : 96 Question Id : 5531725610 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Who among the following is NOT a S-R theorist?

1. Thorndike

]

. Murray
. Skinner

3

4. Watson
Options:
E5317222381. 1
E5317222382. 2
E5317222383 3
ES3172223584. 4

Question Number : 97 Question Id : 5531725611 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A person who has shifts of mood from overly happy and energetic to
sadness and hopelessness is showing signs of

1. Neuroses

td

. Psychoses
3. Lack of emotional intelligence
4, Necrosis

Options:

SS3172225385. 1

SS317222386. 2

SSS17222387. 3
SSE217222388. 4

Question Number : 98 Question Id : 5531725612 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Which of the following i1s NOT a feature of the persons with
Disabilities Act of India, 20167

1. It is based on social model of disability
2. It has identified 21 categories of disability
3. It emphasizes special education

4. It Casts responsibility on government to ensure equality of
rights for People with Disabilities.
Options:
5531722253891
SS31VZ2EZEE0. 2
SE317222591. 2
S53l7z22592. 4

Question Number : 99 Question Id : 5531725613 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The structural therapy technique of family therapy focuses on

1. identifying and reordering the organization of the family
system

I

. looking at patterns of interaction between family members
. modifying belief systems

3
4. trans-generational transmission of unhelpful patterns of belief
and behaviour

Options:

553172223931
S52172223294. 2
o531 72223295. 5
553172223296, 4

Question Number : 100 Question Id : 5531725614 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
All of the following are features of Multicultural Education, EXCEPT

L, Scrutinize learning resources to identify prejudices

(]

Explore and engage diverse cultures

Ll

Highlight representation of different aspects of culture

4. Embrace, acknowledge and respect different perspectives
Options:
SS317z2z2E87.1
SSE1V2R2E98. 2
S53l72225399. 2
55317222400 4

Question Number : 101 Question Id ;: 5531725615 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Which of the following is NOT a feature of the modem extended
Indian family?
1. Absence of hierarchical authority structure

(2]

Lack of geographical proximity
3. Lack of family occupation

4. Parental control of children
Options:
CEZ17222401. 1
CEE17222402. 2
Coolr222403 2
S5o17222404 4

Question Number : 102 Question Id : 5531725616 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The perspective of a family towards continuance of social inequality
within a society by maintaining and reinforcing status quo reflects

l. Conflict perspective
2. Functionalist perspective
3. Symbolic interactionist perspective
4. Feminist perspective
Options:
553172224051
SS317222406. 2

SS317222407. 3
SS317222408. 4

Question Number : 103 Question Id : 5531725617 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The transition from the pre-operational stage to concrete operational
stage is marked by emergence of

1. Mental representation
2. Hypothetico-deductive thinking
3. Reversibility of thought

4, Animism
Options:
SEol17222409. 1
S5ol17222410 2
S5ol17222411. 2
GEZ17222412 4

Question Number : 104 Question Id : 5531725618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



When a person achieves a sense of meaningtul accomplishment in adult
life and contribution to society, the person experiences

1. Integrity

2. Generativity

3. Industry
4. Intimacy
Options:

S521722241=2.1
SS317:222414. 2
S5317222415. 3
SS317222416. 4

Question Number : 105 Question Id ;: 5531725619 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which trait among the following is NOT normally distributed in a

population?

[

. Intelligence

. Height

fd

3. Musical ability
4. Weight
Options:
55317222417, 1
55317222418 2
55317222419 . 2
o317 222420. 4

Question Number : 106 Question Id : 5531725620 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The approach of dynamic assessment is consistent with

1. Psychometric assessment

(o ]

. Concept of zone of proximal development
3. Standardized IQ) tests

4. Hierarchical style of communication
Options:
SS317:222421. 1
SS31722E422. 2

SS317222423. 3
SS317222424. 4

Question Number : 107 Question Id : 5531725621 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Enhancing creativity in children involves

(=

. Valuing process over product

bed

. Tolerance of ambiguity
. Encouraging risk-taking

3

4. All of the above
Options:
LEol17222425. 1
GEo17222426. 2
CE317222427. 2
Coolr222428. 4

Question Number : 108 Question Id : 5531725622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Exposure to more than one language in early childhood

1. slows down language development

(]

. advances cognitive development
. slows down cognitive development

3
4. advances emotional development
Options:
SEolizz22429. 1
S53l7222430. 2
55317222421 2
S5317222432 4

Question Number : 109 Question Id : 5531725623 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Arranging sticks in the order of size from shortest to longest promotes

1. Imagination

[ ]

. Cognitive development
. Language development

3
4. Emotional development

Options:

553172224331
55217222424 2
5217222435 2
55317222426, 4

Question Number : 110 Question Id : 5531725624 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



India adopted the National Policy on ECCE in
1. 1974
2. 2013
3. 1986

4, 2016
Options:
Soolrz2z2z2457. 1

SS317222438. 2
SS317222439. 3
SS317222440. 4

Question Number : 111 Question Id : 5531725625 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
An effective communication strategy for education of parents and

community is

1. Child-to-Child strategy

[ ]

. Parent-to-Child strategy
. Teacher-to-Child strategy

3
4, Child-to-Community strategy
Options:
SLEo17222441. 1
SLol17222442 2
GEZ17222443 2
EEZ317222444 4

Question Number : 112 Question Id : 5531725626 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Emergent literacy perspective helps us to understand that

I. children must be exposed to formal reading and writing from
an early age

]

. literacy emerges in all children at the same age

3. children understand a great deal about written language before
they read and write in conventional ways

4. All of the above
Options:
SLEol17222445. 1
SEol17222446. 2
SLol17222447. 3
SEZ17222448. 4

Question Number : 113 Question Id : 5531725627 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



The view of the child as "“Tabula rasa® was given by
1. Rousseau

. Locke

D

3. Pestalozzi

4. Trechel
Options:
CE2E17222449 1
EE217222450. 2
CE=Z17222451. =
CLE17222452. 4

Question Number : 114 Question Id : 5531725628 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The principle that children with developmental challenges should be
placed in the “least restrictive’ educational setting symbolizes

1. Guided education

[ ]

. Rehabilitative education
. Special education

3

4. Inclusive education
Options:
LEol17222453 1
S5ol17222454. 2
55o17222455 2
o317 222456. 4

Question Number : 115 Question Id : 5531725629 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The basis of intelligence tests is

|. Information processing approach

I

. Psychometric approach
. Quantitative approach

3
4. Idiographic approach

Options:

Soolrz222457. 1
S5317222458. 2
55317222459,
55317222460 4

Question Number : 116 Question Id ;: 5531725630 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



A sculptor is high on
1. Bodily-kinesthetic intelligence

(]

. Spatial intelligence
. Intrapersonal intelligence

3
4. Interpersonal intelligence

Options:

co317222461. 1
S5317222462. 2
55317222463
55317222464 4

Question Number : 117 Question Id : 5531725631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which parenting style is low in acceptance and involvement, and high
in parental control?

l. Permissive

d

Authoritarian

Uninvolved

e b

Participative
Options:

LEol17222465. 1
SLo17222466. 2

o317 222467. 2
Soolrz22z24ea. 4

Question Number : 118 Question Id : 5531725632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The principles of which of the following theorists would be least visible
in a constructionist ECE classroom?

1. Montessori

o ]

Skinner

Piaget

e

Vygotsky
Options:

SS317222469. 1
SSE1VZ2R2470. 2
SS317222471. 3
SS317222472. 4

Question Number : 119 Question Id : 5531725633 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



When children view rules as handed down by authorities and as
unchangeable, they are reflecting

1. Post conventional morality

g%}

Heteronomous morality

Morality of cooperation

b e

Idea reciprocity
Options:

S53lizz22473 1
S53l7222474 2
55317222475 2
S5E317222476. 4

Question Number : 120 Question Id : 5531725634 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
*Hard of hearing’ means person having the less in speech frequencies in
both ears as

l. 00 DB to 70 DB
50 DB to 60 DB

D

70 DB to 80 DB
05 DBto 75 DB

P b

Options:

o5317222477. 1
55317222478 2
55317222479,
5217222480 4

Question Number : 121 Question Id : 5531725635 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The challenge of taking pre-school education to the children of the
marginalized and poor was taken up by

. Giju Bhai Badheka
. Gandhiji

i

d

. Tarabai Modak

3

4. Montessori
Options:
SEo17222451. 1
So317222482. 2
CEZ317222483 2
SEol17222454. 4

Question Number : 122 Question Id : 5531725636 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Which of the following i1s NOT a technique for marriage therapy?

1. Gottman method

D

. Emotionally focused therapy
. Narrative therapy

3
4. Strategic therapy technique
Options:
55317222485 1
SSE1VZ2R248E. 2
S53l7222487. 2
S5317222488. 4

Question Number : 123 Question Id : 5531725637 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The first kindergarten was set up by

1. Pestalozzi

[ ]

. Froebel
3. Montessori
4. Giju Bhai
Options:
EE217222489. 1
CE=Z17222490. 2

SS317:2224581. 3
SS3172224582. 4

Question Number : 124 Question Id : 5531725638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Children begin to sit independently by the age of

1. Four months

(]

. Six months
. Eight months

3

4. Nine months
Options:
CEZ17222492. 1
SEEZ317222494 2
Coolr222495 2
S5o17222496. 4

Question Number : 125 Question Id : 5531725639 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Oedipus complex is a concept in the theory of

1. Freud

[}

. Jung
3. Adler
4. Rogers

Options:

S5317222497. 1
55317222498 2
55317222499
55317222500 4

Question Number : 126 Question Id : 5531725640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which of the following is not a self-conscious emotion?

1. Embarrassment

. Guilt

(]

. Fear

3

4. Envy
Options:

55317222501,
55317222502,
55317222503,
55317222504,

[ N

Question Number : 127 Question Id : 5531725641 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
We know that the infant has developed an attachment when the child
shows

l. Separation anxiety

2. Stranger anxiety

3. Object anxiety

4. Generalized anxiety
Options:
SS317222505. 1
SS317222506. 2
SSS17222507. 3
S5E1V222E08. 4

Question Number : 128 Question Id : 5531725642 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



If the researcher wants to study the incidence of aggression in a child,
the technique to be used is

l. Time sampling
2. Diary description
3. Event sampling
4. Interview
Options:
553172225081
SS317222510. 2

SS317222511. 3
SS31722251%2. 4

Question Number : 129 Question Id : 5531725643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Germinated grain (Channa/Moong) should be included in the diet of
adults daily to provide following EXCEPT

1. Ascorbic aid

2. Fibre

3. Antioxidants

4. Phytates
Options:
CE21722251=2. 1
EE217222514 2

SS317222515. 3
SS317222516. 4

Question Number : 130 Question Id : 5531725644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which of the following is regarded cause of celiac disease among
individuals?

1. Fibre
2. Pigment
3. Gluten

4. Phytate
Options:
553172225171
S5E17222518. 2
S531¥222519. 3
S5317222520. 4

Question Number : 131 Question Id ;: 5531725645 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



When small amount of nuts/oilseeds are added in the diet of children
they serve as a source of

1. lodine
2. Ascorbic acid
3. Omega 3 fatty acids

4. Carbohydrates
Options:
S53lizz225210 1
S5317222522 2
S5317222523. 2
S5317222524. 4

Question Number : 132 Question Id : 5531725646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Some of the individuals have bloating and diarrhoea when they
consume milk, this may be due to

=

. Indigestion of casein

td

. Osmotic imbalance
3. Lactose intolerance
4. Over eating

Options:

CE2317222525. 1

CEIE17222526. 2

SS31722E527. 3
SSS17222528. 4

Question Number : 133 Question 1d : 5531725647 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Estimation of moisture content of spices’herbs should be done by

1. Air oven method

[ ]

Vacuum oven method
. Dean and Stark method

3
4. Karl-Fisher titration method
Options:
EEZ17F2225249. 1
CE217222530. 2
CE217222531. 3
CE217222532 4

Question Number : 134 Question 1d : 5531725648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



When green leafy vegetables are cooked in water their colour changes
to olive green due to pressure of

1. Chlorophyll
2. Pheophytin
3. Curcumin

4. Betalains
Options:
S5olr222553 1
55317222534 2
55317222535 3
55317222536, 4

Question Number : 135 Question Id ;: 5531725649 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Coarse grains when soaked in diluted solution of lime and cooked they

have improved flour characteristics due to

[

. Softening of fibre

fd

. Increase in ascorbic acid
3. Changes in starch granules
4. Improvement in vitamin

Options:

SS317222557.1

SS317222538. 2

SS317222539. 3
SS317222540. 4

Question Number : 136 Question Id : 5531725650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
In preparation of pickles, addition of salt, spices etc. induces

1. Alcoholic fermentation

[ ]

. Putrefaction
. Lactic acid fermentation

3

4. Oxidation
Options:
S5317:222541.1
S5317222542 2
SEZ217222543 2
CEZ217222544 4

Question Number : 137 Question Id : 5531725651 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Fats and oils used for deep fat frying should have

1. Low melting point

D

. High smoke point

(%]

. Low viscosity

oS

. Low boiling point
Options:

Coolr222t45 1

Lol 7222546. 2
GLol17222547. 3
GEo17222545 4

Question Number : 138 Question Id : 5531725652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Small amount of citric acid is added in making jelly and preserves
which helps in
1. Providing acid taste
2. Making some invert sugar

3. Colour formation

4, Preservative action
Options:
CEZ3172225459. 1
CE217222550. 2
CE2172225851. 2
EE2317222552. 4

Question Number : 139 Question Id : 5531725653 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Disease which is characterized by 3D’s is caused by deficiency of

1. vitamin B,

[ ]

. vitamin B,
3. vitamin B;
4, vitamin Bs
Options:
CEE17222552. 1
CEE17222584. 2

SS317222555. 3
SS317222556. 4

Question Number : 140 Question Id : 5531725654 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Meat when cooked in moist heat becomes soft due to

1. Conversion of collagen to elastin

b2

. Conversion of collagen to gelatin
. Adhesion of collagen to elastin

3

4. No change in collagen
Options:
S5317222557. 1
55317222558 2
55317222559 2
SS317Z2EE5E0. 4

Question Number : 141 Question Id : 5531725655 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Child suffering from PEM can be diagnosed whether he has
“Kwashiorkor™ based on following, signs and symptoms, EXCEPT

1. Discoloration of hair

o ]

Presence of edema

Presence of fever

e

Low weight for height
Options:

SEolizz2z2sel 1

S53l7222562. 2

S5317222563. 2

S5317222564. 4

Question Number : 142 Question Id : 5531725656 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Cheilosis angular stomatitis, glossitis symptoms are associated with
deficiency of

1. Thiamin

. Riboflavin

td

3. Niacin

4, Pyridoxine
Options:
55317222565, 1
SE217222566. 2
CEZ317222567. 2
o521 7222568. 4

Question Number : 143 Question Id : 5531725657 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Iron absorption in human subjects is affected by

(=

. Absence of protein

[ ]

. Absence of ascorbic acid
. Excessive presence of phytates

3

4. All of the above
Options:
CEZ17222569. 1
SEEZ317222570. 2
CLolr222571. 2
Lol 7222572 4

Question Number : 144 Question Id : 5531725658 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The net energy value obtained from food by the body is less than its
gross energy volume obtained by bomb calorimeter. This is due to

—

. Losses that occur in digestion

[ ]

. Losses that occur during absorption
. Losses which occur in excretion in the urine

3

4. All of the above
Options:
E5317222E73. 1
E5317222E574. 2
5ol r22257V5 3
ELI17222576. 4

Question Number : 145 Question Id : 5531725659 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
What should be the fat percentage out of the total calories in our diet?

1. 10-20%

2.20-30%

3.30-40%

4. 40— 50 %
Options:

SS317222577.01
SSS17222578. 2
SSE17222579. 3
SS317222580. 4

Question Number : 146 Question Id : 5531725660 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The total energy requirement of an individual is based on

1. Basal metabolism

1 ]

. Physical activity
. SDA

3

4. All of the above
Options:
Coolr222581. 1
Lol 7222582 2
S5o17222583. 2
SEo17222584. 4

Question Number : 147 Question Id : 5531725661 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Processed food manufacturers claim that their products are “cholesterol

free’. As per FSSAL such food products should have cholesterol level

of
1. 0 percent
2. not more than 5 mg per 100 gm of solid
3. not more than 0-5 mg per 100 gm of solid
4. not more than 8 mg for 100 gm of solid
Options:

553172225851
SS317222586. 2
SS31722E587. 3
SS317222588. 4

Question Number : 148 Question Id : 5531725662 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The chemical constituents of food which are classified as nutraceuticals
and promote health include which of the following?

1. Prebiotics and Probiotics
2. Antioxidants
3. Phytochemicals

4. All of the above
Options:
EEE1722258R9. 1
5ol 7222590 2
S5o17222591. 2
S5o17222592 4

Question Number : 149 Question 1d : 5531725663 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Pulses/Beans have soluble fibre and have health benefit to CVD
patients due to their

1. Protein content

(o ]

. Improve insulin
. Cholesterol lowering effect

3

4. Carbohydrate content
Options:
553172225931
S5317222594. 2
SS3172E2E2585. 3
SE31722259E. 4

Question Number : 150 Question Id : 5531725664 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Major nutritive deficiency which is common in children between 6 to
36 months is

1. PEM

[ |

. Fluorosis
. Pertussis

3

4. Diarrhea
Options:
LEol17222597. 1
S5o17222598. 2
o317 222599 2
Sooly222e00. 4

Question Number : 151 Question Id : 5531725665 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A woman is considered severely anemic when her hemoglobin level is
less than

=

. 7 gm/dl of blood
. 8 gm/dl of blood
. 9 gm/dl of blood

3

4. 10 gm/dl of blood
Options:
S53l7zz22e01. 1
S5317222602. 2
55317222603 2
S5217222604. 4

(o ]

Question Number : 152 Question Id : 5531725666 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



To remain healthy during old age, the need for which of the following
nutrients increases?

1. Protein

[ ]

. Omega and fatty acids
. Vitamin Bz

3

4. All of the above
Options:
LEo17222605. 1
Lol 7222606. 2
CEo17222607. 2
CEZ17222808. 4

Question Number : 153 Question Id : 5531725667 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Sometimes amino acids (pyruvate/ lactate) are converted into glucose
in body through which of the following processes?

1. Glucogenesis

(g ]

. Glycogenesis
3. Gluconeogenesis
4. Glycogenolysis
Options:
S5E1V222E08 1
SS317:222610. 2

SS317222611. 3
SS317222681%2. 4

Question Number : 154 Question Id ;: 5531725668 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Head circumference/chest circumference can be used to assess growth
failure among which of the following individual?

1. Infants

fd

Adolescents

3. Adults

4. School going children
Options:
CEZ17222612. 1
CLE17222614. 2

SS317222615. 3
SS317222616. 4

Question Number : 155 Question Id : 5531725669 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



For treating diarrhea among infants of 6-12 months of age at home,
which of the following practices should be followed?
|. Give antibiotics

(]

. Provide top milk
. Continue beast feeding

3
4. Restrict complementary feeding
Options:
CE317222617. 1
Soolr222e61la. 2
5ol 7222619 3
SLo17222620 4

Question Number : 156 Question Id ;: 5531725670 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
For weight management of obese adults, which of the following is

NOT an appropriate practice?

1. Include more fruits and vegetables in the diet

]

. Increase physical activity
3. Decrease carbohydrates but not fat
4. Reduce 1000 calories/day
Options:
SS317222621.1
SSS17222622. 2

SSE17222622. 3
SS317222624. 4

Question Number : 157 Question Id : 5531725671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
For renal factors, the requirement for which of the following nutrient
may need to be modified?

1. Carbohydrates

[ ]

. Fats
3. Fibre

4. Protein
Options:
CEE172226825. 1
CEE17222626. 2

SSE1VZEZEZT. 3
SSE1VZ2EEEZE. 4

Question Number : 158 Question Id : 5531725672 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



All of the following are periods of prenatal development, EXCEPT

1. Germinal Stage

D

. Embryonic Stage
. Fetal Stage

3

4. Post-partum
Options:
Co317222620. 1
55317222630 2
55317222631, 2
5317222632 4

Question Number : 159 Question Id : 5531725673 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Lack of prenatal care increases the risk of following, EXCEPT

1. LBW
. Child abuse

[ ]

3. Infant mortality
4. Preterm birth
Options:
SS317222633. 1
SS317222634. 2

SS317222635. 3
SSS17222636. 4

Question Number : 160 Question Id : 5531725674 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which nutrient is associated with reduction of neural tube defects in
infants?

. Calcium

(=

td

. lron
3. Folic Acid
4, Zinc
Options:
CEZ17F2Z22827. 1
CEZ17FZ222E2E8. 2

SS317222639. 3
SS317222640. 4

Question Number : 161 Question Id : 5531725675 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The first vellowish fluid secreted after birth of a baby is called

[

. Collagen

b2

. Cholesterol
. Sebum

3

4. Colostrum
Options:
LEol17222641. 1
Lol 7222642 2
GLol172226430 3
GEZ17222644 4

Question Number : 162 Question Id : 5531725676 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
To study linear growth of children in a community you would use
which of the following method?

1. PRA

d

. Biochemical assessment
. Diet history

3

4. Anthropometry
Options:
SS317222645. 1
SS31722264E. 2
SSS17222647. 3
55217222645 4

Question Number : 163 Question Id : 5531725677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
For assessing the nutritional status of any patient in hospital, we can
rely on

1. Clinical sign

(o ]

. Biochemical parameters
. Diet intake

3

4. Weight
Options:
55317222649, 1
E5317222650. 2
E5317222651. 3
S5317222652. 4

Question Number : 164 Question Id : 5531725678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



A baby born after 36 weeks of gestation is described as LBW baby
when her weight at birth is

1.<2500 g
.<3000 g

(o ]

Lad

<3500 g

ey

. <3750 g
Options:

55317222653 1
SSE17222654. 2
SS31Y222E55. 3
S5317222656. 4

Question Number : 165 Question Id : 5531725679 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Extension’s purpose is to

1. Provide solutions

[ ]

. Transfer technologies
. Create awareness

3
4. Generate employment

Options:

55317222657, 1
55317222658 2
5217222859 2
217222660, 4

Question Number : 166 Question Id : 5531725680 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
TRYSEM was launched to provide

1. basic technical and entrepreneurial skills to youth

[ ]

. basic skills for entrepreneurial development
3. technical and entrepreneurial skills to women
4. basic and technical skills for boys

Options:

SS317222661. 1

SS317222662. 2

SSS17222663. 3
SSE217222664. 4

Question Number : 167 Question Id : 5531725681 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Target group of ICDS programme is

1. children in age group of 10-15 years

[ ]

. children in age group of upto six years
. children between the age group of 6 to 10 years

3

4. None of the above
Options:
Coolr222ee5. 1
Lol 7222666. 2
Lol 7222667. 3
SLo17222665. 4

Question Number : 168 Question Id : 5531725682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Full form of ICAR is

1. Indian Customized Agricultural Research

[ ]

. Indian Council of Aspirational Research
. Indian Council of Agricultural Research

3
4. Indian Community Agricultural Research

Options:

55317222669, 1
SS217222670. 2
oo317222671. 5
5317222672 4

Question Number : 169 Question Id : 5531725683 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Major objective of Panchayati Raj System is

1. Decentralization

(]

. Rural development
3. Cooperation
4. Leadership
Options:
SS317222673.01
SS31VZ2EZET4. 2

SSE17222675. 3
SS317222676. 4

Question Number : 170 Question Id : 5531725684 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Identify the place where first KVK was established in India.

1. Assam

bed

. Tripura

3. Goa

4. Puducherry
Options:
SS317222677. 1
SS317222678. 2

SSS17222679. 3
SSS172Z2Z2680. 4

Question Number : 171 Question Id : 5531725685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Type of leadership where the farmer assumes a passive role is referred
to as

=

. Participatory

fd

. Observatory
3. Laissez-Faire
4. Authoritarian
Options:
CEE17222681. 1
CEIR17222682. 2

SSS17222683. 3
SSS17222684. 4

Question Number : 172 Question Id : 5531725686 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Identify the PRA technique used to collect information about past
events.

1. Mapping

td

. Time line
. Venn diagram

3

4, Matrix ranking
Options:
CEZ17222685. 1
CEZ17222686. 2
ool Y222687. 2
Lol 7222680. 4

Question Number : 173 Question Id : 5531725687 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



After completing the project. the extension workers performance can be
determined through which one of the following

=

. Auditing

[ ]

. Evaluation

. Monitoring

3

4. Feedback
Options:
55317222689, 1
S5317222690. 2
SEZ217222691. 2
CEZ217222692. 4

Question Number : 174 Question Id : 5531725688 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
When all the stakeholders sit together to plan the programme from start
to the end and discuss all possible scenarios, it is referred to as

=

. Brainstorming

td

. Rapid appraisal
. Measurement

3

4. Management
Options:
S53l7222693. 1
S5317222694. 2
S5317222695. 2
S5E317222696. 4

Question Number : 175 Question Id : 5531725689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The method by which the farm women demonstrate the preparation of
nutritious meal to her fellow trainees, is referred to as

1. Training

td

. Method demonstration
. Demonstration

3

4. Role play
Options:
SEo17222697. 1
o317 222698. 2
CEZ317222699 2
Lol 7222700 4

Question Number : 176 Question Id : 5531725690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The ability which is very important for the extension worker to
understand the problems of the community, find solutions and motivate
them to accept him as part of their community is referred to as

1. Credibility
- Fidelity

(]

3. Empathy

4. Validity
Options:
553172227011
SSS17222702. 2
SS31722E2703. 3
SS317222704. 4

Question Number : 177 Question Id ;: 5531725691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Multimedia consists of different aspects but its value is ascertained by

which one major aspect given below?

e

. Designing

]

. Content quality
. Audio

3

4. None of the above
Options:
LEol17222705 1
CEo17222706. 2
CEZ17222707. 2
CLolr222708. 4

Question Number : 178 Question Id : 5531725692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Systems which provide advice to the users in organizing complex
situation through the use of wide range of knowledge are referred to as

1. Decision Support Systems

(o ]

. Geographic Information Systems
3. Information Support Systems
4. Satellite Support Systems
Options:
553172227091
S53172227100 2

SSS17222711. 3
SSE17222712. 4

Question Number : 179 Question Id : 5531725693 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



When people from diverse cultural backgrounds blend together it leads
to an emergence of which new culture?

1. Arbitration

(o ]

. Cooperation
3. Accommodation
4. Acculturation
Options:
CE2172227132. 1
217222714, 2

SS317222715. 3
SS31722E2716. 4

Question Number : 180 Question Id : 5531725694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Phenomenon through which buyers and sellers can reduce marketing
cost of the produce compared to traditional system is referred to as

—

. Networking
2. e-commerce
3. Computer assisted market
4. Expert systems

Options:

SS317222717.1

SS317222718. 2

SS317222719. 3
SSS17222720. 4

Question Number : 181 Question Id : 5531725695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Term used to describe the hidden meaning of the media text is referred
to as

. Connotation

(=

td

. Description
. Underlined

3

4. Denotation
Options:
LEol17222721.1
Lol 72227ee. 2
GLo17222723 2
CEZ317222724. 4

Question Number : 182 Question Id : 5531725696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



What kind of model will you use to explain problems in the internal
parts of the heart resulting from poor food choices?

=

. Working model

[ ]

. Simplified model
. Cross-sectional model

3

4. Scale model
Options:
LEol17222725 1
Lol 7222726. 2
Lol 7222727. 3
CLD17222728. 4

Question Number : 183 Question 1d : 5531725697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Farm women tells the extension worker that the problem of the
machine is in its handle. She conveys the same to the researcher, who
starts working to improve the machine handle. This kind of feedback
helps to improve the linkages between the Researcher, Extension
worker and the farm women. What is it called?

1. Organizational linkage

]

. Horizontal linkage

Lad

. Vertical linkage

4. Circular linkage
Options:
SS317zRE7z2E 1
SE317222730. 2
S53l7z2227321. 2
S5317222732. 4

Question Number : 184 Question Id : 5531725698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If a paste made from kitchen food items is applied on wound, what will

this kind of knowledge be called?
LICT
2L 1ITK
AT

3

4. ATTIC
Options:

SEZ217222732. 1
CEZ217222724 2
SSZ217222735. 3
S5S17222736. 4



Question Number : 185 Question Id : 5531725699 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
After formation of the self-help group comes a time, when members
start to sit together. This leads to better sharing of ideas and feelings
among them. What stage can it be called?

1. Dependency stage

(i ]

. Cohesion stage
. Interdependent stage

3

4. Commitment stage
Options:
S53l7z222737. 1
S5317222738. 2
S5317222739. 2
SSE1VZ2EE740. 4

Question Number : 186 Question Id : 5531725700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
An extension worker knows her community members by name and
they respond to her very positively. What kind of skill does this
extension worker possess?

1. Motivational skills

d

. Persuasive skills
. Communication skills

. Interactive skills

= L

Options:

55317222741, 1
SS217222742. 2
o521 7222742. 5
55317222744 4

Question Number : 187 Question Id : 5531725701 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Which one of the following 1s NOT an arm of Ministry of Skill

Development and Entrepreneurship?
1. NSCA
2. NSDA
. NSDC

3
4. NSDF

Options:

S5317222745. 1
o231 7222746. 2
S5317222747. o
55317222748 4



Question Number : 188 Question Id : 5531725702 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which extension approach should be followed to effectively form
women'’s self-help groups?

1. One to one approach

(o ]

. Individual approach
. Group approach

3

4. Mass approach
Options:
553172227431
SSE1VZRETED. 2
S53l7z222751. 2
S53l7222752. 4

Question Number : 189 Question Id : 5531725703 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Identify the kind of demonstration in which the participants just sit and

watch the demonstration?

. Interactive demonstration

[

]

. Observational demonstration
. Method demonstrations

3

4. Result demonstration
Options:
LEol17222753 1
SLol17222754. 2
GEZ1722275E 2
CEZ317222756. 4

Question Number : 190 Question Id : 5531725704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Gap between the actual performance and the desired performance is
referred to as

1. Felt need

(o |

. Urgent need
. Training need

3

4. Unfelt need
Options:
EE217Z227E7. 1

SS31722275E. 2
SS31722E2758. 3
SS317222760. 4



Question Number : 191 Question Id : 5531725705 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Transmission of information between peers is referred to as

1. Downward communication

. Upward communication

[ ]

(%]

. Horizontal communication

. Vertical communication

=S

Options:

oo317222761. 1
So31722E27E2. 2
5317222763
55317222764 4

Question Number : 192 Question 1d : 5531725706 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If a women entrepreneur is NOT interested in running the enterprise,
who can she hire to run it?

1. Technical personnel
2. Professional personnel
3. Innovative personnel
4. Anyone

Options:

SS317222765.0 1

SSS1722E276E. 2

SSS1722Z2767. 3
SSS172227EER. 4

Question Number : 193 Question Id : 5531725707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Selling focuses on the product. but on what should the entrepreneur
focus for effective marketing?

1. Market
2. Production quality
3. Customer

4. Income
Options:
EE317222769. 1
EE317222770. 2
o317 222771. 32
CLR17222772. 4

Question Number : 194 Question Id : 5531725708 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Best method to disseminate improved practices and technologies to the
farmers’ groups is

|. Focused group discussions
2. Kisan melas
3. Home visits

4. Observations
Options:
ool 7222773 1
Lol 7222774. 2
Lol 7222775. 3
CEo17222776. 4

Question Number : 195 Question Id : 5531725709 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Which attribute of the innovation should be kept in mind while making

a choice for its dissemination based upon the cultural and social value
system of the community?

l. Relative advantage

2. Trialability

3. Complexity

4. Compatibility
Options:
SS317222777. 1
SSS17222778. 2

SSE17222779. 3
SS317222780. 4

Question Number : 196 Question Id : 5531725710 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Process of spread of an innovation into the system after its initial
adoption is referred to as

1. Distribution
2. Dissemination

3. Displacement

4. Diffusion
Options:
SLEol17222751. 1
Lol 72227Re. 2
Lol 72227083. 2
SEZ217222754. 4

Question Number : 197 Question Id : 5531725711 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Major factor that contributes towards any major change in the social
system of any community at large, is

|. Economic factor
2. Geographical factor
3. Pathological factor

4. Political factor
Options:
LEol17222785. 1
Lol 72227086. 2
Lol 72227R7. 3
CED172227E8. 4

Question Number : 198 Question Id : 5531725712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The technique applied to the projects involving activities of non-
repetitive nature is

1. CPM
. WBS

D

. PERT

3

4. PRA
Options:
553172227891
SEZ217222790. 2
SS217222731. 3
SE317222732. 4

Question Number : 199 Question Id : 5531725713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Who has authored the book, “Mtroduction to Home Science"™?

1. 0. P. Dhama

]

. A. Chandra
. A. S. Sandhu

3

4. G. L. Ray
Options:
553172227931
55317222794 2
S5217222735. 2
217222796, 4

Question Number : 200 Question Id : 5531725714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



Identify the year celebrated as *“Women Empowerment Year in India.
1. 1991

. 2001

. 2003

3
4.2013

Options:

Soolr222VEr. 1
Co317222798. 2
S5317222799.
55317222800 4

D



